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Computer Science (New Scheine) (INTER PART-IT) 418 - () Paper i
Time: 20 Minutes OBJECTIVE Marks, o

Code: 8831

Note: You have four choices for each objective type question as A, 13, C and D) The ciwsiee whneh vou i+
Ol that cirele in from of that question number. Lse marker or pen ta Gl the cireles, Cutting or $illing .y, . .
circles will result in zero mark in that question, Attempt as manv questions as given in objective e
paper and leave vthers blank.

MS-ACCESS AND C-LA NGUAGE

L. L Multiple copies of the same datg is referred 1 as:

(A) data integrity (B} data inconsistency  {C) daty redunduncy (1) dana fsola
2. A primary kev that consists of two or mare attributes of a relation s calied:

{A) sort key (B} candidute kev (C) sub kes (™ fe
3. in E-R diagram, rectangle is used 1o represent:

(A} entily (B} atribute (C) primwary key 0 ® 1 fonsin
4. In 2 NF, which form of dependency is removed: p

(A} transitive dependency (B} pactial depond oW,

(€} associative dependency (D3 const

5. The example of popular D3NS s

1A MS-Word (B) MS-Access &qmrf; (D3 MISPosees Mg
. The maximum length of text tvpe field in M.\'Kg:

A} 30 characters (B) 250 chamc% PO 133 Characrery 1 L EeT e
Fhe extention of header file is: 0

(A} & (B) .o iC) At i oh

=

name is:

8. I C. the maximum length of yagia
(A} 23 characters xgh:mwlcm (C} 31 characters (1Y) 5F.charsets «
9. Which function is tv*h Y outpat on sereen in C-Langugoc® '
(A) scani( ) & Y oprimt( ) (C) gets( ) (M prom
S

10, Which state d Tor making two way decision”

() iR (B) nested-if (C) while i el
P Which of thy lollowing is not logica! operater

(A) && ) | (C) ! cDy v
12, Tow many types of loop structure are in - Language?

(A) 5 (B) 4 (C) 2 Dy 3

13, What will be the value of x afier executing the following code?
for(x=1; x2=7; x+4;

primf{*4d” x);

(A) 3 (B 7 (Cy 8 ian 1
14, A tunction does not return any value has return type: ‘"
(A) nothing (B) float () void ) :;'3
13, Which mode opens only an existing [ile for both reading and writing?
(A) “p=" (B) “w" (C) Swe (D) =g

(TURN OVER,
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(INTER PART-II) 418
SUBJECTIVE

Computer Science (New Scheme)

Time: 2:10 Hours

Note: Section I is compulsory.
SECTION -1

2. Write short answers fo any SIX guestions:

MS-ACCESS
i What s the use of DMLY vil.
1. List three examples of database systems Vi,
it Define primary key. viil.
iv. What is a relationship? X

v.  What is a repeating group?

3. Write short answers to any SIX questions:

L Write shorteut key to compile and run

i, What is the use of define pmNQ

Ceprogram.

. Deline delimiters.&
iv.  Why Cis knowmas strongly typed anguage? iX,
v.  How dees cancellation error oceur?
vi. Write output of the fellowing code:
int x = 35:

printi’ (“%d %d”, 2+ x , 2 - x):

vii.  Name any four format specifiers provided
by,

Write the use ol Jdatn shee

Paper H
Marks: b

What 5 & lunctiona) dependency”

[.ist three methods 1o ereate able in MS- 5000

Write output of te Tllowing cude:

intz, h, <
a=135:
b= [0
¢c=a+h;

print(c = Yad". --cl:

Find eciors troan he following code:

zinclude < st b1 -

vord main {

2 Y, x vk

(Turn Over:
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OR
VISUAL BASIC

4. Write short answers to any SIX qucstions:
What is the use of Val function” vi.  What is the output of following vode?

i

i.

iii.

v

Note: Attem

5.
6.

Dim 1 As nteger

w-)2-13

What is a relational expression? o=l
While n <= 20
Find cutput of following code: If n mod 3 =0 Then
D nom As Integer Print o
n-—1 End il
m~-2 Wend
Ifn - mThen vir.  Predict the output of 1
Print n _ Dim n |, ms
Flse m~ 10 o
Wn=m-1 lhen At ®
Print o 10
Print m &‘i m
End If '

Li
Ind IF .\ Dim x o i
0 Ifx <3 Then

What is nested loop in Visual Basi Print x
Fnd

"'eim ereors in the foilowing code:

Defne Do-While ioop in \\16:. ix.  Explain the ditierence between Do-While

and For-INext loop
‘ (SECTION - 1)

MS-ACCESS

=1

\ L qquestion.

weiing”? What are the ingredients of data modeling”
types of forms in MS-Access.

(SECTION - 111)

What is daa
Discuss differe

Note: Atftempt any TWO questions (either from “C-Language” or (rom " Visual Basic™s:

=i

e

C - LANGUAGE
Write any eight rules for paming variables in C-language.

Write a program that inputs a week day number and prints the name of day on screen using

switch case structure.
What is do-while loop? Explain its working with exemple.
OR
VISUAL BASIC
Discuss implicit and explicit declaration of variables in Visual Basic.

Write & code in Visual Basie that inputs a week day number and displays the name ot the day

in & message box using Select.. . Case structure.
What is Da-While loop? Explain its working with examples.
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